HERER

IZRS IiE &5 #31 s By |HEHE(XEEE 1
EHRBR EEET RIET
PRIE(LE) m3 52.0 52
BRET
#BRID m3 295 29
HEMET
bz ik m3 19.3 19
kg T BT
#&Haz ) —MalE |PU-3 300A m 55.0 55
ERT
BT — BT E| B 300 m 105 10
BT
okt 500%500 e 1.0 1
kit 600%600 e 1.0 1
oK 800%800 =S 1.0 1
BEMHET HiEyRYELT
SRR =30 m 45.7 45
S hRER YL =30 m2 5417.2 5410
AsEXY IR LEHR LR m3 1625 162
AV —MEEMEREL m3 5.1 5
CoHRY IR L E i n iz m3 5.1 5
OB HET TRI7IVNGEET
TEEEEIE BRAE (i R #1t=30) m2 5417.2 5410
®E BEFTHETAI7ILM50| m2 5417.2 5410




£ T
% % T % H =
E Al Al MO By #HE W =
EBEEE
TERIE fHEH# RM-30 t=30 m® 5417.2

xE BATRERY W =50 [ n’ 9417.2




§2. HEKEEYT
HE K # & ¥ I & #H =%

I E Al oAl MO By #HE W =
HRKiBEY T

flizT
$X/53v9)-MaliE |PU3  300A m 55.0

EET
smazyu—rane| @ 300 m 10.5

am
Sk Bt 500%500 &R 1.0
Sk 600%600 A 1.0
Sk#t 800%800 &R 1.0




§3. BKRLTT
B B £ I & i X
I & v ]| Mmoo % By =1 B =
ERLTT
RYET
RiE (8) m3 52.0
HET
BEID m3 29.5
EBITMET
BRIAIBET [{EEHLSY L=14. 3km m3 19.3




§4. B E ¥ W X I
# E Y B £ I & 6t X

I & Z Al Al v BT #= wm =
BEYRET
BEYRZELT

TAT7 IV EREE U t=3cm m 45.7
TAI7I MR R t=3cm m?2 5 417.2
TA77 M EOERAL Sy [13. 3km m3 162.5 [ETEHK (*#%)
avyy— hEEmEE L | B m3 5.1
ConkiE kAL 53 18. 3km m3 5.1 [HFREE %)




SEmETE BRI R ERARR 7
®EI t=50
IX B R iR L] 1 EE Fig [ L] T EiE ]
NO. m m m m2 m m2 m m m2
0+ 0.000 5. 380
1+ 0.000 [ 20.000 5.230 5.305 | 106.10
1+ 7.000 7.000 8.800 7.015 49.11 FEmEtHl
1+ 11.500 4.500 7.800 8. 300 37.35 FEmatil
1+ 16.000 4.500 8. 660 8.230 37.04 TmEat
2+ 0.000 4.000 5.920 7.290 29.16
3+ 0.000 | 20.000 5.100 5.510 | 110.20
4+ 0.000 | 20.000 5.560 5.330 | 106.60
5+ 0.000 | 20.000 5. 400 5.480 | 109.60
6+ 0.000 | 20.000 6. 020 5.710 | 114.20
7+ 0.000 | 20.000 6.110 6.065 [ 121.30
8+ 0.000 | 20.000 6. 040 6.075 | 121.50
9+ 0.000 | 20.000 7.330 6.685 | 133.70
10+ 0.000 | 20.000 | 12.100 9.715 | 194.30
10+ 7.000 7.000 | 12.730 | 12.415 86. 91
10+ 11.600 4.600 | 12.840 [ 12.785 58. 81 Fmmatil
11+ 0.000 8.400 7.300 [ 10.070 84.59
12+ 0.000 | 20.000 5.130 6.215 | 124.30
13+ 0.000 | 20.000 5. 340 5.235 | 104.70
14+ 0.000 | 20.000 5.090 5.215 [ 104.30
15+ 0.000 | 20.000 5.010 5.050 | 101.00
16+ 0.000 | 20.000 5.170 5.090 | 101.80
17+ 0.000 | 20.000 6. 980 6.075 | 121.50
18+ 0.000 | 20.000 5.820 6.400 [ 128.00
19+ 0.000 | 20.000 4. 650 5.235 | 104.70
20+ 0.000 | 20.000 4.950 4. 800 96. 00
21+ 0.000 [ 20.000 5.570 5.260 | 105.20
22+ 0.000 | 20.000 6. 660 6.115 [ 122.30
23+ 0.000 | 20.000 5.780 6.220 | 124.40
23+ 10.700 [ 10.700 5. 540 5. 660 60. 56 TEat Al
24+ 0.000 9.300 | 10.150 7.845 72.96
25+ 0.000 | 20.000 [ 13.500 | 11.825 [ 236.50
25+ 17.800 [ 17.800 5. 700 9.600 | 170.88
NEH[ 517.80 3379. 57




SEmETE BRI R ERARR 7
®EI t=50
IX B R iR L] 1 EE Fig [ L] T EiE ]
NO. m m m m2 m m2 m m m2
X#g| 10+ 0.000
10+ 5.000 5. 000 7.100 10-1#/4
11+ 0.000 | 15.000 7.100 7.100 | 106.50
12+ 0.000 | 20.000 6.180 6.640 | 132.80
12+ 1.400 1.400 6. 450 6.315 8.84
INEH[ 41,40 248.14
&&| 559.2 3627.7
TREEIE W EHM) A= 3627.7 m2
b= =30 A= 3627.7 m2
V=" 108.8 m3




ERAE & RAE R ARARR R
=30
&S b = EEXLEHK ES bl = EREXITEHK B Al = EREXGEHK F Al =t EEXITEHK| F b = ERXITELK
LR 0 + 0.00
5. 40
L 1 + 7.00
~ 1 +16.00 12. 60
R 10 + 7.00
6. 40
L 23 +12.00
~ 23 +18.00 7.30
LR 25 +17.80
5.70
&5t 37.40




SEmETE B FE R SRBRR 7
®EI t=50
IX B R iR L] 1 EE Fig [ L] T EiE ]
NO. m m m m2 m m2 m m m2
0+ 0.000 4.090
1+ 0.000 [ 20.000 4.350 4.220 84. 40
2+ 0.000 | 20.000 3. 950 4.150 83.00
3+ 0.000 | 20.000 4.550 4.250 85.00
4+ 0.000 | 20.000 4.590 4.570 91. 40
5+ 0.000 | 20.000 5.130 4. 860 97.20
6+ 0.000 | 20.000 4.740 4.935 98.70
7+ 0.000 | 20.000 5.100 4.920 98. 40
8+ 0.000 | 20.000 4.670 4.885 97.70
9+ 0.000 | 20.000 5.100 4.885 97.70
10+ 0.000 | 20.000 7.500 6.300 | 126.00
11+ 0.000 | 20.000 5.170 6.335 [ 126.70
12+ 0.000 | 20.000 7.150 6.160 | 123.20
13+ 0.000 | 20.000 4.100 5.625 | 112.50
14+ 7.000 | 27.000 4.120 4.110 | 110.97
15+ 11.600 | 24.600 4.050 4.085 | 100.49
16+ 0.000 8. 400 4.300 4.175 35.07
17+ 0.000 | 20.000 4.000 4.150 83.00
18+ 0.000 | 20.000 4.830 4.415 88.30
18+ 11.000 | 11.000 4.220 4.525 49.78
A&t 3710 1789.5
TREEIE FEM) A= 1789.5 m2
b= =30 A= 1789.5 m2
V= 53.7 m3




ERER R RHE R HRBRR AR
t=30

TE Al = EEXIZEHK & il = EEXIFES &F pil = EEXIFESR & pill = EREXIEH F Al = ERXIEEHK
LR 0 + 0.00

4.10
LR 18 +11.00

4.20

&t 8. 30




SR 7V —MEFE ¢ 300

ki) -t A HE

eIV
1:3

HLUEA
RC-40

LEkfhas 70—
¢ 300 L=2000

2. 5515 A (RC-40) t=15¢cm
A= 0.44%10

3. &I
A= 0.44%10

4. KR
V=" (0.44+0.8)*1.42%10
JIEER 10.5m& 70

58D
V= (1.76-0.4%0.6) %10
IEE 10.5m&7=Y

6.5% T4
V= 17.60 - 15.20

400

50

300 50

69

300

95

240

1L00

440

10m&H 720

5.00

4.40

4.40

17.60
18.48

15.20
15.96

2.40

ZS

m2

m2



g 77U — Ml

50

95

300
465

70

100 130

560

10.0m*4729

LEF= 7V —MARE PU-3 300A

L= = 10.00 m
2. 3548k (RC-40) t=10cm

A= 0.560 X 10.000 = 560 m2
3 IR IE

A= 0.560 X 10.000 = 5.60 m2
4. K4

V=" ((0.52+0.4)%0.559-(0.2+0.2)%(0.2+0.1))*10 = 3.94 m3

JEF 55.0m&H7-0 V= 21.67 m3
5.8 ELD

V= 3.94-(0.52%0.559)%10 = 1.03 m3

JEF 55.0m&H7-0 V= 567 m3
6.5% L5y

V= 3.94 - 1.03 = 291 m3

JEF 55.0m&H7-0 V = 16.01 m3
7.2 7 —REEE LAY

V= 0.08 m3/m X 10.000 0.80 m3

JEF 55.0m&H7-0 Y 4.40 m3



K HE500%500

«««««

1 FT4 720

1.ar7)—h

V= 0.8%0.8%1.27-(0.5%0.5%1.12)—(0.62%0.62%0.061) = 0.50 m3

-0.3%0.3/4%3.14%0.15

2.7

A= (1.27+1.12)%4 = 9.56 m2
3. A (RC-40) t=15cm

A= 0.9%0.9 = 0.81 m2
4. IE

A= 0.9%0.9 = 0.81 m2
5. KR

V=" (0.8+0.8)*(0.8+0.8)*1.42 = 3.64 m3
6. ELD

V= 3.64-0.8%0.8%1.42 = 2.73 m3
7.5% By

V= 3.64 - 2.73 = 0.91 m3

8.7 L —F L/ 500%500 T-25 i [ = 1 &



K 600600

150 600 150

SN

ED A
18-8-40

CITTTTITT F

1000

-~

RERA
RC-40

900

1 FT4 720

1.ar7)—h

V=" 0.9%0.9%1.0—(0.6%0.6%0.85)—(0.72*0.72%0.061) = 0.47 m3

—-0.3%0.3/4%3.14%0.15-0.3%0.2%0.15%2

2.7

A= (1.0+0.85)%4 = 7.4 m2
3. A (RC-40) t=15cm

A= 1.0%1.0 = 1.00 m2
4. IE

A= 1.0%1.0 = 1.00 m2
5. KR

V=" (0.9+0.8)*(0.9+0.8)*%1.15 = 3.32 m3
6. ELD

V= 3.32-0.9%0.9%1.15 = 2.39 m3
7.5% By

V= 3.32 - 2.39 = 0.93 m3

8L —F LU 6004600 T-25 i H = 1 #



K HE800+800

AR PEB00%800

PU-3 3004 § § PU-3 3004

| 60

90

PU-3  300A H PU-3  300A
10

1000

i ea00 s

150

JERERARC-40

5
| |
1 FT4 720
1.ar7)—h
V= 1.1%1.1%1.211-(0.8%0.8%1)—(0.92%0.92*0.061) = 0.73 m3
—-0.4%0.4/4%3.14%0.15-0.3%0.3%0.15%2
2./
A= (1.21+1)%4 = 8.84 m2
3. A (RC-40) t=15cm
A= 1.2%1.2 = 1.44 m2
4. IE
A= 1.2%1.2 = 1.44 m2
5. KR
V=" (1.1+0.8)*(1.1+0.8)*%1.361 = 4.91 m3
6. ELD
V= 4.37-1.1%1.1%1.361 = 2.72 m3
7.5 Ly
V= 4.91 - 2.72 = 2.19 m3

8.7 L —F /% 800%800 T-25 i H = 1 &



A7) —MiE EL

300,

BUGT B
100 300 100

1550

200

10¢

TR

610

Vi

L& T Y4720

Lar ) —MEEwEUEL
V= ((0.3+0.61)/2%1.55+(0.35+0.2+0.5+0.2)*0.1)*0.9 = 0.75 m3
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